1. The Ratio Test and Root Test are based on the properties of convergence of
A. ap-series, p#£1. B. the harmonic series C. the alternating series D. a television series E. the world serie@ geometric series

2.  Which of these will help you determine if the series 2 2e" converges o( divergey Select all possible answers.
pr ~r=e

A. limit comparison test with a p-series, p£1. B. limit comparison test with the harmonic series geometric series
D. alternating series test E. absolute convergence test (i.e., convergence of Z a, | implies convergence of Zan )

E. integral test (F Jratio test @nh Term Test for Divergence YU can use root #st fvo siNCe WIS 5
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3. Which of these will help you determine if the series Z e @n diverges? Select all possible answers. a2
n=0 r:.
A. limit comparison test with a p-series, p#1. B. limit comparison test with the harmonic serie geometfic series

D. alternating series test E. absolute convergence test (i.e., convergence of Z |a"[ implies convergence of Z a,)

( L. ﬁntcgral test @atio test G. pth Term Test for Divergence yaa can use root fest 4op
¢k conveges 2bsolutely

4. Which of these will help you determine if the series 2{ =1 J converges or diverges? Select all possible answers.

2
n=1 n

A. limit comparison test with a p-series, p#1. B. limit comparison test with the harmonic series C. a geometric series

ltematlng series test

E. ratio test F. nth Term Test for Divergence

. gbsolute convergence test (i.e., convergence of Z’an| implies convergence of Z a, )
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5. Which of these will help you determine if the series Z[( ) ] codé‘erges or diverges? Select all possible answers.

n

A. limit comparison test with a p-series, p#1. B. limit comparison test with the harmonic series C. a geometric series
Iternating series test E. absolute convergence test (i.e., convergence of Zlan| implies convergence of Zan )

L. ratio test F. sth Term Test for Divergence @
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6. Which of these will help you determine if the series Z( i +r2 t converges 9— diverges? Sel
n=| .
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A. limit comparison test with a p-series, p#1. B. limit comparison test with the harmonic series C. a geo

n=]

ossible answers.

D. alternating series test E. absolute convergence test (i.e., convergence of Z|a”| implies convcrgcnciof
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E. integral tesf’ F.Jatio test G. mth Term Test for Divergence J* Qavt) - li — LTy
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7. Use the Ratio Test for each.
(-2

a. The series Z ) will by the Ratio Test because lim - =1 &
n=1
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,,E:T n {convergd, diverge noe ( N+ ') L{
a‘\ it Lf nH hx ”{ ‘ . ﬂ Write in the box

- 200 a - Write in the box a an exact number or
o [ (at)™ 4

Qar
| o

§od
. ( nt| simplified expression involving n. DNE or @ or —0.



8. Use the Root Test for each. ﬁ 7 \
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b. The series Z(— ™! (_n] will by the Root Test because lim -1 2
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9. Consider the series Z(l + 3] for some real number a.
n=1 n

a. The series will .
D

b. Circle the best answer to determine part a.
B. It is a geometric series C. Use the Ratio Test D. Use the Root Test

g. It is a p-series. B. :
se the nth Term Test for Divergence a 018
= lim( (4 @ #0

¢. Explain more fully below how part b justifies part a. ( m ( H‘ )
Nn-»00 n-20d

10. Consider the series Z(—-Z)"
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{convergd

b. Which of these will help you determine if the series Z(—Z)" converges or diverges? Select all possible answers,

n=|

A. It is a p-series. t is a geomelric series @ Use the Ratio Test {(D.) Use the Root Test
@U se the #th Term Test for Divergence

c. Explain more fully below how part b justifies part a for each of your choices. ﬂ'h'k’"\ dest! l!':mi ("2) bNEZRO
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a. The series will

a. The series will e .
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b. Justify your clalm 10 part a.
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Note: l-m = 207 <



